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C.M.

Multiplier par 10,100, 1000, 5, 50 et 500 :
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Je me souviens…

· Pour multiplier par 10,100 ou 1000, je…………………………………………………………………
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ou je……………………………………………………

· Pour multiplier par 5 : ………………………………………………………

· Pour multiplier par 50 : ………………………………………………………

· Pour multiplier par 500 : ………………………………………………………

	1979 x 10 =………

657 x 100 = ………

258 x 1000 = ………

1,5 x 10 = ………

28,6 x 100 =………

5600 x 1000 =………

3,56 x 10 = ………

64,94 x 100=………

65,03 x…………… = 6503

25,8 x 1000=………

97,54 x 10 =………

58,24 x ………… = 5824

8,475 x 100=………

9,514 x 1000=………

108,57 x …… = 10857

3,06 x 1000=………

9389,679 x 1000=………

570,265 X 100 = ………

100 x 0,37 = ………

1000 x 789,265=………
	5 x 128=………

5 x 1220 =………

5 x 8180 =………

5 x 9800 =………

50 x 89 =………

50 x 838 =………

50 x 1270 =………

500 x 64 =………

500 x 89 =………

5 x 437 =………

5 x 4,8 = ………

50 x 2,18=………

50 x 68,20 =………

5 x 56,6 =………

50 x 0,16 =………

500 x 3,76 =………

5 x 8,96=………

50 x 342,6=………

50 x 75,26=………

500 x 266,852=………
	10 x 184 =………

50 x 5,36 =………

100 x 78,28 =………

1000 x 84,186 = ………

5 x 1484 =………

100 x 872,5 =………

437 x 5 =………

18,25 x 50 =………

1000 x 22,18=………

5 x 8070 =………

100 x 8070=………

50 x 18460 =………

10 x 18,786=………

5 x 24,68=………

50 x 346 =………

1000 x 678,987=………

6654 x ……… =33270

34,56 x ……… = 1728

67,89 x 50 = ………

1000 x 6789,78 = ………


__________________








C.M.

Multiplier par 10,100, 1000, 5, 50 et 500 : Contrôle

	4570 x 100= ………

6752 x 5 = ………

13,08 x 100 =………

24,186 x 1000=………

8,5 x 50 =………
	11,986 x 1000 = ………

1,484 x 500 = ………

12,82 x 5 =………

1270 x 10 =………

12,103 x 100 = ………
	3,6 x 500 = ………

78,809 x 100 = ………

78,68 x 5 =………

84,78 x 10 = ………

8,72 x 50 = ………
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